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И7 8EтоD88 ч4Eт=OE 8=6еEтоDо6 8 6кл4дч8ко6 54=ко6

 «З45OтOе» 8EтоD88 64уGеD=о9 пD864т874F88, D8=4=Eо6Kе 
п8D4<8дK, кDуHе=8е DK=к4 �КО, «=4Dод=KE IPO». �4лNт=4O 
8потек4,.. 

 Пе=E8о==4O DеDоD<4
 �ед46=8е 8EтоD88 E пDод46е9 6кл4дG8к4< =еод=о7=4G=KE 

8=6еEт8F8о==о-EтD4Eо6OE пDодукто6 (�!�, �!�) 8 =е8EкоDе=8<K9 
у6е <=о7о лет <8EEел8=7

 �Dо5ле<K E <оHе==8к4<8 8 <етод4<8 «EоF84лP=о9 8=6е=еD88»& 
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И7 8EтоD88 ч4Eт=OE 8=6еEтоDо6 8 6кл4дч8ко6 54=ко6

&оD6еEт6е==Kе 
пу5л8к4F88 58D6е6KE 
DекоDд4E 8 кол8GеEт64 
G4Eт=KE кл8е=то6 =4 
58D64E E<е=8л8EL 
EуDо6о9 
де9Eт68телL=оEтLN 
о564л4 Dо=до6о7о 
DO=к4 6 2022 7оду
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И7 8EтоD88 ч4Eт=OE 8=6еEтоDо6 8 6кл4дч8ко6 54=ко6

�4копле==Kе 7D46д4=4<8 
6кл4дK 6 8=оEтD4==KE 
64лNт4E (D4EE<4тD864е<Kе 
кл8е=т4<8 50+, к4к 
пе=E8о==Kе =4копле=8O 8 
«E<еDт=Kе» де=L78) по Eут8 
о5JO6ле=K «токE8G=O<8» 
4кт864<8
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�кл4дO (депо78тO) 8 дDу78е пD86лече==Oе EDедEт64 
D878чеEк8E л8F пDе6OE8л8 40 тDл= Dу5
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DоEт EDедEт6
=4Eеле=8O 6

54=к4E, 

E=878л8EP
о5Nе<O

депо78то6
D878чеEк8E л8F

EDоко< 5олее
7од4
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ДолO D878чеEк8E л8F 6 п4EE864E 54=ко6Eко9 E8Eте<O E 2020 
7од4 E=878л4EP E 34,5% до 30,4%
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ДолO 6кл4до6 6 64лNт4E =4 1.03.23 EоEт468л4 9% 8 
E=878л4EP от=оE8телP=о 1.01.20 E 19%
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'4Eт=Oе 
8=6еEтоDO 8 

6кл4дч8к8 
54=ко6

ДолO EDедEт6 =4Eеле=8O ~ 30% п4EE86о6 
54=ко6

Ч4Eтные ин6еEтоDы и 6кл4дчики -
кто они для 54нко6, 7оEуд4DEт64 и 
о5щеEт64? 

 'EDед=е==4O <4Dкетоло74<8 Fеле64O 
4уд8тоD8O?

 ПоEт46I8к8 8=DоD<4F88 длO big data?

 Кто о=8 длO =4Hе9 EтD4=K? 
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%<отD8< =4 F8DDO  по 8то74< 7од4
(6 пDоFе=т4E 7одо6OE, 87<е=е=8O пок474теле9 74 7од 8л8 74 пеD8од )

12 4EGетK � �



�O6одO по 
8то74< 2022 

7од4 

 ДоEод=оEт8 6ло6е=89 6 долл4D 8 е6Dо 
по Dе7улLт4т4< 2022 7од4  отD8F4телL=K. 
�о 8то74< GетKDеE лет - =уле6о9 DоEт

 Це=K =4 7олото 6KDоEл8 =е7=4G8телL=о. 
�4 GетKDе 7од4 – пD8DоEт Eто8<оEт8 ~10% 

6 EDед=е< 74 7од
�4кE8<4лL=Kе потеD8 8=6еEтоDK 
по=еEл8 =4 Dо=до6о< DK=ке. �4де=8е 
8=декE4 �оEко6Eко9 58D68 EоEт468ло 
5олее 42%, Gто пD4кт8GеEк8 
=86ел8Dо64ло DоEт 74 пDедKдуI8е тD8 
7од4

13 4EGетK � �



�O6одO по 
8то74< 2022 

7од4 - 2

 �=декE Eто8<оEт8 <оEко6Eко9 68лLO 
(IRN) пок474л 7=4G8телL=K9 DоEт 6 
8=оEтD4==KE 64лNт4E 8 пD4кт8GеEк8 =е 
87<е=8лEO 6 Dу5лOE. �4 GетKDе 7од4 
=ед6868<оEтL =4D46=е E 7олото< 6 
л8деD4E DоEт4, =о =ео5Eод8<о уG8тK64тL, 
Gто Mто д4==Kе =е по Dе4лL=K< Eделк4<

 ПDоFе=т=Oе Eт46к8 по Dу5ле6O< 
6кл4д4< у6ел8G8л8EL. �4 ко=еF 7од4 о=8 
доEт87л8 <4кE8<4лL=KE 74 поEлед=8е 
7одK 7=4Gе=89. � пеD6о9 поло68=е 7од4 
54=к8 под=8<4л8 Eт46к8 по 6кл4д4< 
дл8телL=оEтLN 3 8 д46е 6 <еEOFе6 до 21-
23%, Gто пD8=еEло 6кл4дG8к4< 
7=4G8телL=Kе доEодK

14 4EGетK � �



�8потет8чеEк89 поDтDелP 
(D4Eчет 6 Dу5лOE)

 �о уEло6=о<у поDтDелO – долл4D !(� (20%), 7олото (20%), 
DоEE89Eк8е 4кF88 (20%), =ед6868<оEтL (6 Dу5лOE, 20%) 8 Dу5ле6Kе 
6кл4дK (20%)  - потеD8 8=6еEтоD4 6 2022 7оду -7,4%. �D8 
оD8F84лL=о9  8=DлOF88 - 5олее 11%

 �=4ло78G=Kе D4EGетK 74 GетKDе 7од4 – доEод=оEтL +5,92% 

(EDед=ее по 7оду). �е покDK64ет EDед=NN 74 4 7од4 8=DлOF8N 6,8%
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�D46д4=е куп8л8 у
54=ко6 около 70 

то== 7олот4 6 2022 

7оду (о5Nе< <о7
EоEт468тP до 240 

<лDд. Dу5)

https://frankrg.com/108292

�4=к8 74куп8л8 6 
2021 7оду около 6 

то== 7олотOE 
Eл8тко6, 4 6 2022 

поDOдк4 100 то==.
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https://frankrg.com/108292


Д8=4<8к4 Fе= =4 7олото 6 поEлед=89 пеD8од 
отл8ч4етEO 6OEоко9 6ол4т8лP=оEтPN
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�о =е E<отDO =4 6Eе - DоEт ч8Eл4 D878чеEк8E л8F =4 
58D6е пDодол64етEO

 '8Eло D878GеEк8E л8F, 8<еNI8E 5DокеDEк8е EGет4 =4 �оEко6Eко9 
58D6е, по 8то74< Dе6D4лO 2023 7од4 - 24,0 <л= (+517,8 тKE. 
Gело6ек)

 Это 5олее Gе< =4 7 <л= 5олPHе Gе< 6 =4G4ле 2022 7од4 (!)
 � Dе6D4ле 2023 7од4 Eделк8 =4 Dо=до6о< DK=ке Eо6еDH4л8 2,5 

<л= Gело6ек. ДолO G4Eт=KE 8=6еEтоDо6 6 о5Jе<е тоD7о6 4кF8O<8 -
81,1%, 6 о5Jе<е тоD7о6 о5л874F8O<8 – 28,2%, =4 Eпот-DK=ке 64лNтK 
– 20,8%, =4 EDоG=о< DK=ке – 65,5%.

https://www.moex.com/n54937/?nt=106
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�о пD8 Qто< по 8то74< 7од4 EоED4=OетEO 6OEок4O 
=еD46=о<еD=оEтP D4EпDеделе=8O 4кт86о6



19
https://www.cbr.ru/StaticHtml/File/131632/Portrait_client_broker.pdf

�о д4==K< �4=к4  оEE88 =4 7Dуппу =485олее EоEтоOтелL=KE 7D46д4=  (D47<еD 
поDтDелO котоDKE пDе6KH4ет 100 <л= Dу5), пD8Eод8тEO 6Eе7о 0,05% кл8е=то6
(пD8<еD=о 7400 Gело6ек) 8 36,4% Eо6окуп=KE 4кт86о6, 4 =4 23,4% кл8е=то6 E 4кт864<8 
до 100 тKE. Dу5. пD8Eод8тEO 0,75% 4кт86о6 (5е7 уGет4 кл8е=то6 E пуEтK<8 EGет4<8).

https://www.cbr.ru/StaticHtml/File/131632/Portrait_client_broker.pdf


И =е 745O64е< пDо 
«74<оDо6е==Oе» 4кт86O 

 � Euroclear 8 Clearstream
7468Eло 5,7 тD8лл8о=о6 
Dу5ле9 

 20% 87 =8E - 4кт86K 
G4Eт=OE 8=6еEтоDо6

20



КлNче64O Eт46к4 
�4=к4 $оEE88 8 

8=DлOF8O

!ло686H4OEO E8ту4F8O =4 D8=4=Eо6о< 8 
Dо=до6о< DK=ке, DK=ке =ед6868<оEт8 
6KEоко 6ол4т8лL=4 8 E уGето< 8=DлOF88 
=е5л47опD8Oт=4 длO G4Eт=OE 8=6еEтоDо6 
8 54=ко6Eк8E кл8е=то6
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Ипотек4 – дD496еD 8 D8Eк
Д4==Oе �8QлP 74 2022 7од
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Ипотек4 8 ч4Eт=Oе 8=6еEтоDO – к4к4O E6O7P?

 !о6<еEт=Kе пDо7D4<<K 54=ко6 8 74EтDо9I8ко6: «лL7от=4O 
8потек4 от 74EтDо9I8к4», «тD4=Hе64O 8потек4», 8потек4 5е7 
пеD6о=4G4лL=о7о 67=оE4, «8потек4 E кMH5Mко<», «4ккDед8т86=4O 
EEе<4»

�4кE8<4лL=о D8Eко64==K<8 <о6=о EG8т4тL пD4кт8к8 E 
746KHе=о9 Eто8<оEтLN 68лLO 8л8 5е7 пеD6о=4G4лL=о7о 67=оE

 К4к4O E6O7L E 8=6еEт8F8O<8? �KEок89 D8Eк покупк8 к64Dт8DO по  
т4к8<8 8потеG=O< пDо7D4<<4< E «8=6еEт8F8о==O<8 FелO<8»

https://nbj.ru/publs/elizaveta_danilova_bank_rossii_esli_my_kho/61374/?sphrase_id=26712
23

https://nbj.ru/publs/elizaveta_danilova_bank_rossii_esli_my_kho/61374/?sphrase_id=26712


И=декE Fе= =4 <оEко6EкуN =ед6868<оEтP 6 долл4D4E 
%(� 

24

 ! ко=F4 2007 7од4 
8=6еEт8F8о==4O 
пD86лек4телL=оEтL 
<оEко6Eко9 
=ед6868<оEт8 
E=864етEO

  4EGет 8=декE4 IRN 

6едетEO =е по Dе4лL=K< 
Eделк4<

https://www.irn.ru/gd/s-1991-goda-v-dollarah/#begin

https://www.irn.ru/gd/s-1991-goda-v-dollarah/#begin


К4к Dе478DуNт 6кл4дч8к8 8 8=6еEтоDO

 � 2021 D878GеEк8е л8F4 пеDе6ел8 6 54=к8-=еDе78де=тK 2,3 тDл= 
Dу5. � 2022 - 6,6 тDл= Dу5. *

 'Eод 6 =87кол8к68д=Oе 4кт86O – 7олото 8 =ед6868<оEтL

 � 2022 7оду долO к4п8т4л4 кл8е=то6 private banking 6 8=оEтD4==о9 
64лNте у<е=LH8л4EL E 60% до 40%. �45лNд4етEO G4Eт8G=K9 уEод 6 
о5еEFе=864NI89EO к долл4Dу Dу5лL *

* Д4==Kе FrankRG 25



%тD4те78O? %тD4те78O…

 Ф8=4=Eо64O E8Eте<4 EтD4=K, пDедл474ет доEт4тоG=о H8Dок89 
8=EтDу<е=т4D89 длO G4Eт=о7о 8=6еEтоD4, котоDK9 =едоEт4тоG=о 
от6еG4ет потDе5=оEтO< 7D46д4= E тоGк8 7Dе=8O доEод=оEт8 E6о8E 
6ло6е=89 8 8E 74I8тK от 8=DлOF88

 �Eе Mто по6KH4ет =еу6еDе==оEтL кл8е=то6, E=864ет до6еD8е к 
54=ко6Eко9 E8Eте<е 6 Fело<

 �ео5Eод8<оEт8 D47D45отк8 8 6=едDе=8O о5Iе7оEуд4DEт6е==о9 
EтD4те788 (E8Eте<K, пDо7D4<<K) D45отK E G4Eт=K<8 8=6еEтоD4<8 8 
54=ко6Eк8<8 6кл4дG8к4<8 (E уGето< Eе7<е=т4F88 по 7Dупп4< 
кл8е=то6)
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'то 
пDедл474ет 

�$�
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�=8F84т864: Со7д4=8е о5Iе7оEуд4DEт6е==о8̆ 
EтD4те788 D45отO E G4Eт=O<8 8=6еEтоD4<8 8 
54=ко6Eк8<8 кл8е=т4<8 =4 D8=4=Eо6о< 
DO=ке 

&е78E: !ло686H4OEO E8ту4F8O =4 D8=4=Eо6о< 8 
Dо=до6о< DK=к4E, DK=ке =ед6868<оEт8 6KEоко 
6ол4т8лL=4 8 E уGето< 8=DлOF88 =е5л47опD8Oт=4 длO 
G4Eт=KE 8=6еEтоDо6 8 54=ко6Eк8E кл8е=то6, Gто 
тDе5ует от 6EеE уG4Eт=8ко6 DK=к4 пDеделL=о 
коDDект=о9 8 E8Eте<=о9 D45отK E D878GеEк8<8 
л8F4<8

Докл4д к EJе7ду �EEоF84F88 DоEE89Eк8E 54=ко6 – 2023



'то т4к4O 
EтD4те78O 

дол6=4 
6клNч4тP - 1

 D45от4 E кл8е=т4<8 54=ко6 дол6=4 
6еEт8EL <4кE8<4лL=о коDDект=о, 54=к8 
=е дол6=O пD85е74тP к =46O7O64=8N 
пDодукто6 8 уEлу7 (<8EEелл8=7), поOE=OO 
кл8е=т4< E8ту4F8N =4 DK=ке 8 
6о7<о6=Kе D8Eк8

 «пD468л4 87DO» длO 6EеE EтоDо= 
дол6=K 5KтL пDо7D4G=K 8 уEто9G86K

 6 Mт8E уEло68OE =4 74ко=од4телL=о< 
уDо6=е =ео5Eод8<о D4EE<отDетL 
6о7<о6=оEтL допол=8телP=OE 
=4ло7о6OE лP7от длO дол7оEDоG=KE 
8=6еEт8F89 длO G4Eт=KE 8=6еEтоDо6
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Докл4д к EJе7ду �EEоF84F88 DоEE89Eк8E 54=ко6 – 2023



'то т4к4O 
EтD4те78O 

дол6=4 
6клNч4тP - 2 

 =ео5Eод8<о уE8л8тL D45оту по 
по6KHе=8N D8=4=Eо6о9 7D4<от=оEт8 
=4Eеле=8O, по6KE8тL 6о6леGе=8е 8 
кооDд8=4F8N D45оту H8Dоко7о кDу74 
уG4Eт=8ко6: �4=к4  оEE88, о5IеEт6е==KE 
оD74=874F89, ко<<еDGеEк8E 54=ко6, 
D45отод4теле9, =4уG=KE 8 уGе5=KE 
746еде=89, 6оло=теDо6

 7оEуд4DEт6е==4O EтD4те78O D45отK E 
G4Eт=K<8 8=6еEтоD4<8 8 54=ко6Eк8<8 
кл8е=т4<8 дол6=4 кооDд8=8Dо64тP 8 
6о6лек4тL 6 D45оту 6EеE пDедEт468теле9 
D8=4=Eо6о7о DK=к4, Dе7улOтоDо6, 
=4уG=Kе 8 о5IеEт6е==Kе оD74=874F88
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Докл4д к EJе7ду �EEоF84F88 DоEE89Eк8E 54=ко6 – 2023
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!п4E85о 74 6=8<4=8е!


